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And this which was taught — BY7A NAR DT ORT PIDRT MWD 1ANT KM
Pohtur; where he took out half-a-Zayis from a large corpse

OVERVIEW

The mwn states that if one carried out a n°1> from a n» he is 2»1; the inference
being that if he took out a n°1 *¥n1 he would be M. 1M1 27 (who maintains 137X
Pwyn)! interprets this 7awn [and its inference] that he is 79 only if he carried out a
273 nan nor oxn (but not if was XXM a axnm noton 0% oxn [for then 1" would
maintain 1wy» 117X]). Our Moo explains and qualifies this answer.
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And 1" could just as well have established the [inference of the] 71wn» in a case

where for instance there was only a nsy >3 -
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However it is preferable to answer that the 71wn 1s discussing (in the inference) a

nr sxn from a large corpse, for that ruling is the greater novelty -
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For if (as the "M suggested) there is only a n> 531 in total; it is obvious that he
is M.

mooin qualifies the ruling of 1":
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And he is o only specifically if he took out a n°1 317 (from a 9173 n»1); however
if he took out a n*r> from a 173 n% he is 21 —

mooIn responds to an anticipated difficulty:

!'See (‘Overview to) the previous >R 7"7 '01n, regarding removing one of three hairs from a v1.
2 We will seemingly have to read the mwn in the following manner (according to this 7"71); when the mawn states
NN A NPT RUXWAT it means there was only one N1 of the n» and he took it out (but not that there was a corpse and he
removed a n°1> from the corpse). The inference then is that if all (that there was, and all) he took out was a 07 °x11, he
is Mwd. This would (certainly) be no contradiction to the view of 1".
3 One might think that the Ywyn "R is effective even to the extent that we say since he removed a n°1 *x¥n and then a
number of people will continue to remove parts of the n» until there will be less than a n°13, so it will turn out the he
(by removing the first n°r *¢17) took part in the ultimate removal of the n» and he should be 2*°11 since Twyn *17R. The
XM127 is that 1"wyn 210X is not that effective to such a degree (see [bracketed end of] footnote # 5).
4 A 131 is not Xnvn, so he did not accomplish anything by removing the n>r >xn.
5 When he takes out a 2173 nan 0°1 °¥n we cannot say Ywyn 3R, for even if someone else were to remove another °¥m
n1 from this nn, it will still contain enough a°n°1 to be Xnwun (see previous *1X 17"7 '01n [TIE footnote # 2]).
6 See ‘Thinking it over’.
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Even though that if another n°1> will be removed from this n», the ax=2w will

not leave; the n» (who is much larger than two 0°n°12) will still be Xnvn, so seemingly here too

he did not accomplish anything by being X% a n°1> -
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Nevertheless in this case his actions have accomplished something, for once he

cut off the nni1 11 n°1, this cut off N1, is not associated any more with the n» -
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So when they will remove the n» from the house, and this n°1> will remain in

the house, it will be R»%w» the entire house -
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So it turns out that by this removal of the n°1> he is causing 77977 for the house,
therefore he is 2°11 since 1"Wyn 12 "IN,

SUMMARY

It is obvious that by taking out a n°1 > (if that’s all there is) he is 7. Removing
a n°1 °xn from a 9173 nn is e for YWYn IR XY; however for removing a nnn N1
772 he is 271, since he prevented the house from becoming ®Xnv after the removal
of the nn.

THINKING IT OVER
Is this ruling of Mmoo (that he is 21 for a 9173 nnn n°12)® according to everyone, or
only according to yan1 27?°

" If we were to assume that this cut-off piece is N X 7731 (it is considered as part of the n»), then Pwyn 1% K7 for
1"nn, if we view the situation as of now, the nn is still n%22 and PwWyn *178 RY, if we view it as it will be in the future
that the n» was removed, so this n*1> (which is nxi R 77A3) is also considered removed together with the nn, so it is
not his 2°wyn that made the M7v n°2, but rather the removal of the nn, for if he would not have removed it, it would
have been removed together with the nn.
8 See footnote # 5.
? See 072X "10.
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